Document type

Assembly Instruction

Document No. Revision

246360 B

Production state Permobﬂ
Preform Date Preform By |Approved Date Approved By Page
2010-12-22 UDN

Mounting head rest bracket

List of parts used in this instruction.

2 pcs. Groove nuts 2xM6 CC25
2 pcs. screws ISO 7380 M6x12
2 pcs. screws I1ISO 10642 M6x12

Mounting

Read the instructions carefully before starting

installation.

1. Undo the screws and slide the bracket’s

square nuts into the rails and place the bracket

in the required position. (Fig. 1)
2. Tighten the screws. (Fig. 2)
3. Push the holder down into the bracket and

tighten the locking lever. Check that the holder

is secure. (Fig. 3)

1 pcs. adjustable bracket
1 pcs. adjustable locking lever
1 pcs. holder for head rest

Fig. 2. Screw the bracket securely in the required
position.

Fig. 1. Mounting the bracket.

Fig. 3.The holder mounted.




Document type

Assembly Instruction

Document No. Revision

246360 B

Production state Permobﬂ
Preform Date Preform By |Approved Date Approved By Page

2010-12-22 UDN

Montering av Nackstodsfaste

Férteckning 6ver detaljer som anvénds i den har instruktionen.

2st  Sparmutter 2xM6 CC25 1st  Justerbart féste
2st  Skruv ISO 7380 M6x12 1st  Justerbar lasspak
2st  Skruv ISO 10642 M6x12 1st  Hallare nackstod
Montering

Las igenom anvisningen innan montering paborjas.

1. Lossa skruvarna och skjut i fastets fyrkants-
muttrar i skenorna och placera fastet i dnskad
position. (Bild 1)

2. Dra at skruvarna. (Bild 2)

3. Skjut ner hallaren i fastet och dra at lasspaken,
kontrollera att hallaren sitter fast. (Bild 3)

Bild 1. Montera féstet.

Bild 2. Skruva fast féstet i 6nskat ldge. Bild 3. Hallaren monterad.



